
So far graphed 0-3 orders:

Question: for injecting higher order modes, there would be many for each order (for example 3
for 2nd order like 2,0 mode, 1,1 mode….) how should we graph for orders 0-10 while simplifying
the lines for each order? For example I could find the sum (like sum of all 2nd orders, all 3rd
orders.etc)



Unsure how to tell which data files to use for a mirror for example ETM08 data files

ETM08 mirror uncoated (notes: titles are mislabeled and these are scans for some HOM):

ETM08 mirror coated



00 orders
Mirror figure measured at caltech

Power subtracted on 300 mm diameter ETM08 mirror figure- Mirror figure data provided by LMA

Mirror figure data provided by LMA




